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I_|l-%%l al o § re § e § e § s §
= (=] = = o = = [=) =
M A | BXH 7 2 2 M A | BXH 7 =2 M A | B 7 2 2
a kg kg a kg kg ha kg g
Al
1,394.4| 6177.75| 79176.2| 21,243|71,225.80|1,262,789| 5,445.1| 290,616| 23,960
By 367.0 55.06| 5,505.0 7,.904| 3,714.00| 355,715| 4,388.4| 228,817| 22,450
= 494,01 197.60| 4,940.0 7,611 4319.00] 90,924| 1,0446| 61,189 1,500
L 250 50.00 1,250
PANEN | 450.0| 5,850.00| 67,500.0 4,470162,580.00| 804,600
g 26.0 7.90 158.0 245 96.00 1,685 12.1 610 10
5 F 14.0 2.10 70.0 75 11.00 375
a+tof 6.0 45.00 780.0 40| 262.50 5,200
M 143 0.72 28.5 340 16.75 1,005
= M 5.1 0.17 13.7 149 455 445
4 3 18.0 19.20 181.0 159  172.00 1,590
* T HEE dMHEN SXIE2 S XY S aMBA=E Aotstd HE ®I(|6HK| $S
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BES | A 2 2| oy 2 F| oy 2 2
04 X = =) [n] X = = [u] X = =1
AR BN gy B BT g B SNE e
a kg kg a kg kg ha kg E
A
530.50( 5,876.37 | 68,363.5 6,470| 63,421.6| 845,770 1,395
a] 20.00 3.00 300.0 600 240.0| 27,000 1,210
= 50.00 20.00 500.0 1,000 500.0] 12,000 180
S 250 50 1,250
PANN 450.00| 5,850.0| 67,500.0 4,470 62,580.0| 804,600
=) 8.00 2.50 50.0 100 40.0 700 5
- —
=/ T
il
=7 1.00 0.05 2.0 20 1.0 60
E M 0.50 0.02 1.5 20 0.6 60
g =2 1.00 0.80 10.0 10 10.0 100
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o4 ™o = = o4 ™o = = o4 ™~ = =1
AR SN gy BRSNS g BRI SAE San
a kg kg a kg kg ha kg E
Al
158.0| 61.56| 2,068 2555| 1,394.7| 78,920 3,775
=] 58.0 8.70 870 1,440 720.0| 64,800 3,620
= 90.0/  36.00 900| 1,035| 616.0] 12,420 150
244
2t R}
o 3.0 0.90 18 30 12.0 210 5
- —
= T
nk=nilt 20 15.00 260 10 375/ 1,300
S | 2.0 0.10 4 15 0.75 45
= ) 2.0 0.06 6 15 0.45 45
oW =2 1.0 0.80 10 10 8.0 100
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o4 ™o = = o4 ™o = = o4 ™~ = =1
AR SN gy BRSNS g BRI SAE San
a kg kg a kg kg ha kg E
Al
221.0| 4880 2,837 2,090 1,0855| 60,340 4,520
=] 143.0] 2145 2145 1,080 540.0| 48,600 4,310
= 60.0|  24.00 600 950  530.0 11,400 210
S44
FARNN .
o 5.0 1.50 30 30 12.0 210
= = 12.0 1.80 60 20 3.0 100
k=it
S | 1.0 0.05 2 10 0.5 30
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g =2
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a kg kg a kg kg ha kg =
Al
141.3| 4951 1,503 2,663| 1,280.0 66,765 3,640
a] 33.0 4.95 495 1,130 476.0| 50,850 3,360
= 90.0 36.00 900 1,200 720.0| 14,400 280
2L
z X
u 5.0 1.50 30 25 10.0 175
= 5 1.0 0.15 5 20 3.0 100
il
| 6.0 0.30 12 200 10.0 600
= M 0.3 0.01 1 34 1.0 100
g =2 6.0 6.60 60 54 60.0 540
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== —
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T8 #IE(4ED)

"oy uz oz am s oo | oiE s 2wl o wE | 2
A 200| 1,970 100| 2,2% 610 140 301 30 440 770 552 102| 1,083
47 1,400 30 440 60
212l 30 45 10
5 10 500 90 30
=1 25 150 610 150
e 20 20 160 180 180
Mt 35 20 770 245
a5 30 1,970 30 50 50 130 300
ae 50 30 200 91 242 102 108
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O BF3 YAAY B U FRY
<AFZ D 2HE>
E E-&f-’é—(%%—’é—) _ _
Al CHot STE o=l o= ELEE=ES
0 = (ha)| 43884 68.2 161.6 29.6 72.6 43.0
5 3R 2f(kg) | 228817.0| 3471.0] 8,090. 1,480.0)  3,630.0| 2,150.0
MAHE(E) | 244790 341.0 889.0 148.0 391.0 237.0
Z2AE(E) 224500 310.0 800.0 135.0 360.0 220.0
04 = 605.4 56.0 29.6
2y |2 Rt | 302700 28000 1,480.0
MoOAb A " 30030 280.0 148.0
Z2 2 A = 2800 255.0 135.0
0 = 284.2 12.2
2121 £ R 156310 671.0
T M A A 1,370.0 61.0
2 2 A 8 1,245.0 55.0
04 = 232.4
e | B X =] 11,7780
ST M oM A " 11950
3 = A = 1,095.0
04 = 750.0 31.0
wy (B R " 875000 1,550.0
SE M A A B 41030 162.0
Z2 2 A & 37%0 150.0
04 = 753.1 161.6 19.8
e | B x| 423100 8,090.0 990.0
MoOAb A E | 43380 889.0 109.0
2 2 A & 40000 800.0 100.0
04 = 742.9 21.8
a3 Kb B 384360 1,090.0
ST M oM A 4,325.0 120.0
Z2 2 A & 39150 110.0
0 = 646.0 43.0
e B KB 323000 2,150.0
< MoOA A 3,880.0 237.0
2 2 A 8 35700 220.0
04 = 374.4
e B R | 205020
ST M A A B 21750
= 2 A & 20100
W ZEY SSAE0 met X2 MASH Do Z222%0| T




O BEg% MMAY MM gl FXt
<AFZ D 2HE>
B 5 3 52483
T Mz | Mwa | Mun | as3 | gsmo | oo
04 = (ha) 832.0 39.5 468.7 719.7 186.4 213.8
5 |3 X Flkg)| 418100 19800 241290/ 41,8910) 99490 118380
MALA B (E) | 43620 216.0| 25510/ 39230 1,022.0 970.0
Z2AE(E) 40150 200.0| 2,340.0|  3,600.0 937.0 880.0
| S| 62.0
Ay (B K B 31000
NOA A E 310.0
Z 2 A = 280.0
o4 = 42.0 198.0
se | S o2 2,310.0 10,890.0
oM M A = 231.0 891.0
2 2 A & 210.0 810.0
o4 Es 79.0 15.8
e |2 X 39500 948.0
ST M oM oA H 395.0 79.0
2 2 A = 360.0 70.0
o4 Es 511.0 16.0 67.0
0 (B R ™ 255500 800.0|  3,350.0
SE M A A B 26660 87.0 366.0
Z 2 A 8 24650 80.0 340.0
0 Es 23.5 96 4615
e 3K 1,180.0 490.0| 27,690.0
MM A E 129.0 53.0/  2,538.0
Z 2 A = 120.0 50.0/  2,360.0
o4 Es 255.3 058.2 60.6
o | BR 12,765.0| 14,201.0|  3,030.0
P S T - 1,380.0|  1,385.0 330.0
Z 2 A = 1,250.0|  1,240.0 300.0
o4 s 138.0
xm |5 R B 6,900.0
< MoOAL A E 760.0
Z 2 A = 700.0
04 Es 136.8 125.8
e B OORE 7,524.0 6,919.0
ST oM oM oA = 752.0 692.0
Z 2 A = 700.0 637.0
¥ ZZY ESME0| M2t EXE MAS Do 2Z20| ZatE




O HFF MMAY M 5 FA

<AHHDIZHE>

- s H 2 E(24E3)
- 28 | 2 | YE | =™ | XM | =S  stolo|
o H(ha) 12.0 200]  389.0 20.0] 4984] 1250 30.0
|5 A B(ka) | 660.0) 21000 19450.0| 1.0000| 25,0480 6250.0) 15000
A4 A B () 660, 2200 21400/ 110.0| 25050/ 660.0,  155.0
Z2AE(E) 60.0/ 2000/ 19700/ 100.0| 22950 6100,  140.0
] = 355.2
s (BN 17,760.0
AAF A E 1,776.0
Z 2 A = 1,620.0
] e 12.0 20.0
g |3 R E 660.0| 1,100.0
AAF A E 6.0,  110.0
Z 2 A = 60.0,  100.0
] = 117.6 20.0
e | B R = 5,880.0 1,000.0
ST oM oM oA = 588.0 100.0
Z 2 A = 545.0 90.0
oy = 125.0
-~ |B X 6,250.0
== -
AAF A E 660.0
Z 2 A = 610.0
] =
= =
Mg (2 M E
AAF A E
2 2 A #
] =
Mo | M ¥
SN A oA
Z 2 A =
] = 200/  389.0 20.0 10.0
e | B K2 1.000.0| 19,450.0| 1,000.0 500.0
ST M oA A 110.0| 21400/ 1100 55.0
Z 2 A = 100.0| 19700/  100.0 50.0
] = 256
sy B M 1,408.0
AAF A E 141.0
2 2 A = 130.0
¥ ZEY SIS0 ma XS A Do BE2Z0| TEtE




O HFF HAAY My gl ZXtek
<AFS DI 2>
H E(2455)
T = sE | sda S wn  aew | ws  LE
=

B =(ha) 59.5 66| 90| 147.0 1096 202

q | B K Blka)| 80700 3800 4800 7300 57800 1,110
M AL B (= 3270 330 4800 8400 6050  111.0| 1.177.0
2aAE(E)| 3010 300 4400 7700 5520 102.0| 1.083.0
0 X 6.6 96.0

sy B R B 330.0| 4,800.0

< MoAL A #E 33.0  480.0 66.0
2 2 A 7 300 4400 60.0
0q S|

243 = Xt 2f
MoOA A E 11.0
S =3 A = 10.0
5 X

=u 5 X 2

ST ol oM oA E 33.0
= =2 A = 30.0
5 =

] = x =z

=L}

SE M oM oA = 162.0
5 = A = 150.0
oy = M5 35.6

e | B K= 20800 1.790.0

STl oM A " 2280 196.0 196.0
= 2 A 7| 2100 180.0 180.0
o = 147.0

g 3R B 7.350.0
MM A E 840.0 270.0
2 2 A 7 770.0 245.0
oy = 26.0

s | B R 2 1.300.0

ST M oM A 145.0 323.0
2 2 A 7 130.0 300.0
oy S 18.0 480 202

s (B X Z 9900 26400 1.111.0

SE M oA A g 99.0 2640 111.0| 1160
Z2 2 A ¥ 91.0 2120/ 1020 1080

¥ ZEY SHAME0 Met XS MM Cof 20| ZatE




K ES

TE A | zAsizlel| oy | oe | oo | s@a
04 X (a) 7,904.0 92.0 50.0 12.0 100.0 160.0
Al EXE(kg) 3,714.0 375 20.0 6.0 40.0 80.0
293 (kg) | 355715.0 4,140.0 2,250.0 540.0 4,500.0 7,200.0
0 kS| 795.0 92.0 50.0
47| = At = 306.0 37.5 20.0
S = = 35,775.0 4,140.0 2,250.0
| S| 600.0 50.0 50.0
PAL! = At = 240.0 20.0 20.0
= = 2F 27,000.0 2,250.0 2,250.0
™ = 347.0 12.0
5 E N 2f 174.0 6.0
= = 2f 15,615.0 540.0
o M| 12770
=1 = Xt ¥ 639.0
= = 2k 57,500.0
04 S| 1,440.0 160.0
e = Xt =3 720.0 80.0
= = = 64,800.0 7,200.0
0 X 1,080.0
Mt = At 2 540.0
S = 2t 48,600.0
0 kS| 1,130.0
a5 = Xt g 476.0
= = 2F 50,850.0
0 S| 1,235.0
dyt g N 2f 619.0
S = 2f 55,575.0
E5Y SEAMS0| et SAE MASt o SF20| =&E




K ES

[«]
o Z(30E3)
Sy
= n|E TS MY Mzl
™ X (a) 25.0 403.0 130.0 1,351.0 198.0
Al EXE(kg) 12.5 202.0 57.0 627.5 99.0
saH(kg) 1,125.0 18,125.0 5,850.0 60,780.0 8,900.0
™ = 25.0 70.0
A1 5 ® g 125 285
S = = 1,125.0 3,150.0
™ H 100.0
I 40.0
S = =i 4,500.0
™ A 114.0
2 3 N 57.0
S = =i 5,130.0
™ = 78.0 787.0 78.0
E= Xt = 39.0 394.0 39.0
S =5 =i 3,500.0 35,400.0 3,500.0
™ kS| 80.0 120.0
TR O 40.0 60.0
S = =i 3,600.0 5,400.0
™ H 70.0 50.0
= Xt Ej 35.0 25.0
= = Ej 3,150.0 2,250.0
™ = 80.0 280.0
s 3 © 32.0 108.0
= = Ej 3,600.0 12,600.0
o = 175.0
34 | 3 Xt = 88.0
2 2 ¥ 7,875.0

42




K ES

[o]
o Z(30E3)
7 &
M| Y ASH | gszn| o
™ X (a) 818.0 80.0 960.0 395.0 287.0
A EXH(kg) 409.0 40.0 480.0 190.0 119.0
S (kg) 36,850.0 3,600.0 43,200.0 17,775.0 12,915.0
o x
27 |3 x
3 2 =
™ 5 250.0
28 |3 ® 100.0
=] = g 11,250.0
™ H 37.0
2% |3 x ¥ 19.0
S = 2 1,665.0
™ H 108.0
B4 |3 x = 54.0
=) =1 = 4,900.0
™ kS| 80.0 80.0 640.0
s | B Xt =i 40.0 40.0 320.0
=] =5 g 3,600.0 3,600.0 28,800.0
™ H 330.0 320.0 90.0
He | B Xt Ej 165.0 160.0 45.0
= = Ej 14,850.0 14,400.0 4,050.0
™ H 80.0
3% |3 x 32.0
=] = g 3,600.0
™ = 300.0 225.0
ae | B Xt g 150.0 113.0
=] = i 13,500.0 10,125.0
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K ES

o E(30ES)
R
e8 2y | Yz | FM3=
™ X (a) 60.0 110.0 220.0 490.0 12.0
A EXH(kg) 24.0 48.0 110.0 212.0 6.0
S (kg) 2,700.0 4,950.0 9,900.0 22,050.0 540.0
o =
33 oy
2 2 g
™ 5 60.0 30.0
29 5 oy 24,0 12.0
=] = =i 2,700.0 1,350.0
™ A 12.0
% 3 X 6.0
S = 2 540.0
o 5
s |3 x =
2 2 g
™ = 40.0
SERE- 20.0
=) =5 g 1,800.0
™ H 220.0
= Xt Ej 110.0
= = g 9,900.0
™ H 40.0 490.0
a5 |[&F A 16.0 212.0
5 = 1,800.0 22,050.0
o x
g 3 oy
2 2
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O ¥ Y4F
N =3 stojotn| ol At
M AN (a) 707.0 100.0 360.0
A | BXZF(kg) 284.0 46.0 180.0
a3 (kg) 31,815.0 4,500.0 16,200.0
o = 500.0 40.0
471 |3 R 180.0 20.0
3 3 22,500.0 1,800.0
™ =
49 |3 X
T =
™ Ea 132.0 20.0
58 |8 ¥ 66.0 10.0
3 = ¥ 5,940.0 900.0
™ F
s |3 X
5 =
™ X 80.0
g |3 X ¥ 40.0
3 3 ¥ 3,600.0
™ =
Mt | B X
3 = ¥
™ X 40.0 80.0
d45 |3 X ¥ 16.0 40.0
3 =2 ¥ 1,800.0 3,600.0
™ X 75.0 200.0
ad |3 X ¥ 38.0 100.0
3 =2 ¥ 3,375.0 9,000.0
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O ¥ YZ

= E sS4t HEtd HE31=E

rl:l
it
)

270.0 110.0 30.0 98.0 30.0

Al

b
]
o
-
«

135.0 55.0 12.0 47.5 12.0

Ok
H
o
=
«

12,150.0 4,950.0 1,350.0 4,410.0 1,350.0

2
Ja
&
o
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o

7.5

O
IH
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810.0
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rl:l
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O
IH
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80.0 80.0

2]
Ho
O
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o

40.0 40.0

Ok
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3,600.0 3,600.0

2
1A

rx
ot

Rl
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Ok OM
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40.0

h
Hr
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o

20.0

Ok OM
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150.0 110.0

75.0 55.0
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O ¥ UYZ
HHEE (B7E3B)
T = | __T'_AI CHOF | SXI&H | QlER | D|=E | W& | HEkk
slziel | TS | SRR TR IR e EEE
M A (a) 367.00 2.50 4.00 2.00 2.00 7.00 6.00 6.00
Al EXtE(kg) 55.06 0.38 0.60 0.30 0.30 1.05 0.90 0.90
== (ka) 5,605.00f 37.50| 60.00| 30.00/ 30.00] 105.00| 90.00| 90.00
™ = 24.00 2.50 2.00 2.00 2.00
471 |\ & X 3.61 0.38 0.30 0.30 0.30
5 = 360.00| 37.50| 30.00 30.00 30.00
™ A 20.00 2.00
48 |3 Xt g 3.00 0.30
s =2 300.00 30.00
™ S| 11.00
55 |5 X ¥ 1.65
5 =2 ¥ 165.00
oy = 48.00 3.00
s | & X ¥ 7.20 0.45
5 =5 720.00 45.00
™ 75'.' 58.00 2.00 2.00 4.00
s | & K B 8.70 0.30 0.30 0.60
s =2 @ 870.00 30.00 30.00 60.00
™ A 143.00 2.00 2.00
M | & K 2 21.45 0.30 0.30
5 = 2,145.00 30.00] 30.00
™ = 33.00 2.00
358 |8 X ¥ 4.95 0.30
5 =5 495.00 30.00
™ A 30.00 2.00
34 |3 Xt g 4.50 0.30
s =2 @ 450.00 30.00
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41.30

28.00

SXtE(kg)

6.20
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O UUZ

HEE(B7ES)
7 &
2Ly 2E =8 &0 YE | =0 | F=F
5 A (a) 930| 200/ 500/ 800 1400,  070|  16.70
H | BXZ(kg) 140, 030] 075 120 210 010 250
ZZ(kg)| 14000) 3000 7500 120.00| 210.00|  10.00|  250.00
oy e 10.00
gq71 | & X ¥ 1.50
2 2 ¥ 150.00
o 5 800/ 200 200
Zd 2 ox ¥ 120 030 030
Z 2 Z| 12000 3000 30.00
o H 1.30 070/ .70
5= 2 A ¥ 0.20 0.10| 0.5
2 2 | 2000 10.00|  55.00
™ X
s |E X 2
5 =72
o 5 2.00
HE |& X 0.30
g 2 ¥ 30.00
o H 8.00
g 5 2 ¥ 1.20
3 2 ¥ 120.00
o X 1.00 14.00
345 |& X ¥ 0.15 2.10
3 2 15.00 210.00
o 5 3.00
E<I= PN 0.45
& =2 45.00
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O UUZ

HHUBB7ES)
7 =
ZE |sSlojotn] | HEHY | ®E | SH | HE | CIBY | MR
M AN (a) 5.00 320/ 800| 7.00 200/ 11.00 1.00 1.00
A | X (kg) 0.75 0.48 1.20 1.05/  0.30 1.65| 015 0.5
a2 2(kg) | 75.00| 4750/ 120.00| 105.00 30.00| 165.00 15.00| 15.00
o S| 1.50
4371 | & X 0.23
5 2 22.50
™ S| 2.00
¥ |3 R 0.30
3 =2 ¥ 30.00
™ = 0.70
585 |3 X ¥ 0.10
3 3 ¥ 10.00
™ H 5.00 3.00 3.00
E= PN S 0.75 0.45 0.45
3 5 | 7500 45.00 45.00
™ X 200/ 2.00 4.00
M5 |3 X 0.30|  0.30 0.60
3 T ¥ 30.00|  30.00 60.00
™ S|
Mg | & K &
3 = ¥
™ H 1.00|  3.00 1.00]  1.00
48 |3 X B 0.15]  0.45 015/ 0.15
3 = ¥ 15.00|  45.00 15.00) 15.00
™ X 3.00/  2.00 4.00
g |3 X B 045/  0.30 0.60
3 = ¥ 4500/  30.00 60.00
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O ¥ UUF

AUB(37ES)
-
MYE | MHD | AEw | Mm | 9x | o EH1s ¥E
™ X (a) 1.00 80.00 2.00 2.00 400 11.00 34.00 0.30
A EXE(kg) 0.15 12.00 0.30 0.30 0.60 1.65 510 0.05
Sa2(kg) 15.00| 1,200.00) 30.00| 30.00/ 60.00| 165.00) 510.00 5.00
o X
275 & 3
3 2
o ~
28 3 M
3 2
™ A 1.00 0.30
2% 3 KM | 015 0.05
5 = 15.00 5.00
™ H 3.00
a4 3 M 2 0.45
5 = 45.00
™ = 2.00 4.00 4.00
05 |F X ¥ 0.30 0.60 0.60
s = 30.00 60.00 60.00
™ kS| 80.00 2.00 30.00
P L= S RPN 12.00 0.30 4.50
5 = 1,200.00 30.00| 450.00
o &= 1.00
3% 3 x 0.15
2 2 15.00
™ = 2.00 3.00 2.00
2 | & [ ¥ 0.30 0.45 0.30
s = 30.00| 45.00f 30.00
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O B3 HMAY Hy g X
<A D1 2HE>
- BEEE (1083)
Al o CH &F M ME
M A (ha) 1,044.6 662.1 52.0 15.0 65.0
3 SXHY (kg) | 61,1890 39,730.0 3,120.0 900.0 3,900.0
MALH E|(E) 1,569.4 1,000.2 84.0 21.0 104.0
22 & (E) 1,500.0 957.0 80.0 20.0 100.0
o ES] 104.2 99.0
27| 3 PN 6,252.0 5,940.0
SN M oA 145.9 138.6
22 A g 140.0 133
o kS| 147.0 115.0
ol = K=z 8,820.0 6,900.0
TR CPT 270 1850
22 A = 230.0 180.0
o = 146.6 146.6
n | B X 2 8,796.0 8,796.0
ST M A 220.0 220.0
2 2 A & 210.0 210
o = 120.0 105.0 15.0
= | B X = 7,200.0 6,300.0 900.0
SE M A E 168.0 147.0 21.0
2 2 A & 160.0 140 20
o = 123.1 13.1 65.0
M= | E R 2 6,940.0 790.0 3,900.0
MOA A E 188.0 21.0 104.0
g 2 A = 180.0 20 100.0
o = 141.3
o | S A2 7,437.0
IR B 200.0
22 A & 190.0
o = 210.0 158.0 52.00
2z B Xz 12,600.0 9,480.0 3,120.0
SN M oA = 337.0 253.0 84.0
22 A &g 320.0 240.0 80
o kS| 50.4 5.4
| B R 2 3,144.0 1,524.0
ST M A A & 73.5 35.6
= = A = 70.0 34.0
™ kS| 0.0
5 X 2 0
MZ 1w a7 g 0.0
= A = 0.0
% ZIABUS Bt Tof 238 20| Z3HE
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S
#E (11E3)
+ &2
A Ear CHEl CHZ HE MR
M A (a) 7,611 200 4,480 480 100 150
A E X2 (kg) 4,319 100 2,568 288 50 90
S=2(kg) 90,924 2,400 53,352 5,760 1,200 1,800
™ &) 556 530
g7 | & X 261 248
s =5 2 6,264 5,952
™ &3] 1,000 200 500 100
R zE X g 500 100 250 50
s = ¥ 12,000 2,400 6,000 1,200
™ S| 770 740 30
25 | & X B 462 444 18
5 =3 9,240 8,880 360
™ &) 800 550 100 150
S | 5 X 2 480 330 60 90
s =5 ¥ 9,600 6,600 1,200 1,800
™ &S] 1,035 530 50
M5 |5 X 2 616 318 30
5 = ¥ 12,420 6,360 600
™ &S] 950 230 100
Fa == NN B 530 138 60
s =3 ¥ 11,400 2,760 1,200
™ ] 1,200 950 200
a5 | & K g 720 570 120
5 =5 ¥ 14,400 11,400 2,400
™ = 1,000 450
a5 | & X 2 600 270
5 =5 12,000 5,400
™ &) 300
Hzx | & X 2 150
s =3 ¥ 3,600
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O 3 U¥3
2 & _ HEZEN 7%—?';—_)
A 7|&t oH# CH &t tHE e
" ™ (a) 494.0 5.0 234.0 42.0 5.0 10.0
A E X2 (kg) 197.6 2.0 93.6 16.8 2.0 4.0
S=(kg) 4,940.0 50.0 2,340.0 420.0 50.0 100.0
™ H 30.0 25.0
d71 | & X 12.0 10.0
s = ¥ 300.0 250.0
™ X 50.0 5.0 25.0 5.0
4 | F KX B 20.0 2.0 10.0 2.0
3 = ¥ 500.0 50.0 250.0 50.0
i H 33.0 29.0 2.0
=25 |§ A B 13.2 11.6 0.8
5 = ¥ 330.0 290.0 20.0
™ H 55.0 35.0 10.0 10.0
s | F K B2 22.0 14.0 4.0 4.0
3 = ¥ 550.0 350.0 100.0 100.0
™ S 90.0 20.0 10.0
s |5 A B 36.0 8.0 4.0
5 2 ¥ 900.0 200.0 100.0
o X 60.0 15.0 5.0
e | & X 2 24.0 6.0 2.0
5 = ¥ 600.0 150.0 50.0
™ = 90.0 65.0 15.0
45 | & i B 36.0 26.0 6.0
s = ¥ 900.0 650.0 150.0
™ | 55.0 20.0
d= | & A B2 22.0 8.0
s =5 ¥ 550.0 200.0
™ = 31.0
HE |3 X 2 12.4
5 = ¥ 310.0
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Ct. ZAt
O U3, U3
HHEE (6E3) Z (583)
- =
H A S 2= H A EZN 3aH
a kg kg a kg kg
A 450 5,850 67,500 4,470 62,580 804,600
£ 2 0] 424 5,512 63,600 4,310 60,340 775,800
S,.’.I;]
i of & 4 52 600 20 280 3,600
X} —
= - 8 104 1,200 80 1,120 14,400
X} _
x| M = 2 26 300 10 140 1,800
2| e F 12 156 1,800 50 700 9,000
2t 944
HHES H & H3ZE
o &2
M BXE 2838 HAE | BN 238 | H A" S| IS
a kg a kg kg ha kg =
A
250 50| 1,250
o2
2 4
(HW9) 00 0] 1,000
4
o=
2
(HW7) 50 10 50
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HEEEBES)
T &
Al ST MZ otzte]
M M (a) 26.00 6.00 5.00 5.00
A | BX (ko) 7.90 1.80 1.50 4.60
2 (ko) 158.00 36.00 30.00 92.00
o x 4.00 4.00
Z7l |3 R 1.20 .20
z 2 ¥ 24.00 24.00
o = 8.00 8.00
Ze |3 R 2.50 2.50
3 2 ¥ 50.00 50.00
o x 1.00 1.00
5 | N 0.30 0.30
5 =2 6.00 6.00
™ X -
g2 3 ® @ -
3 2 -
o = 3.00 3.00
g |2 X 0.90 0.90
3 2 ¥ 8.00 18.00
o = 5.00 5.00
M & X 1.50 1.50
2 2 ¥ 30.00 30.00
o x 5.00 5.00
35 | N 1.50 1.50
2 2 ¥ 30.00 30.00
™ X -
A |3 x -
32 2 3 -
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) AZ(3ED) 93E(1EZ)
TE A sx | Mz | omal | A | ol
M X (a) 245.0 40.0 25.0 180.0 1,210.0 1,210.0
Al EXZH(kg) 96.0 16.0 10.0 70.0 610.0 610.0
S5 (kg) 1,685.0 280.0 175.0 1,230.0 10,000.0 10,000.0
0 kS| 50.0 50.0 -
47| = At ZF 18.0 18.0 -
S = 2k 320.0 320.0 -
5| S| 100.0 100.0 600.0 600.0
AL = X} 2 40.0 40.0 300.0 300.0
= = 2f 700.0 700.0 5,000.0 5,000.0
5 X 10.0 10.0 -
=2z x = 4.0 40 -
z =z = 00 700 _
o 5 - -
sy 2 ox - ]
z =z ¥ - -
5| | 30.0 30.0 610 610.0
e = Xt = 12.0 12.0 310.0 310.0
S = 2f 210.0 210.0 5,000.0 5,000.0
5| X 30.0 30.0 -
Mt = X} 2 12.0 12.0 -
S = 2f 210.0 210.0 -
™ = 25.0 25.0 -
22 2 x 10.0 100 :
S = =3 175.0 175.0 -
o ’i*. - -
24 = x 2 - -
z 2 = - )
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b S5
2 o= %%J—Z%(_Z%—’é) # BUES) _
A CHed A A C}sl
M ™M (a) 14.00 8.00 6.00 75.0 75.0
A | BXE(kg) 2.10 1.20 0.90 11.0 11.0
S (kg) 70.00 40.00 30.00 375.0 375.0
™ X 1.00 1.00 35.0 35.0
471 | & X ¥ 0.15 0.15 5.0 5.0
3 = ¥ 5.00 5.00 175.0 175.0
| X - -
48 |3 X B - -
3 = ¥ - -
| X - -
55 |3 i ® - -
F = ¥ - -
™ X - -
s | & X 2 - _
3 = ¥ - -
™ H - -
HE | & X 2 - -
3 = ¥ - -
™ & 12.00 6.00 6.00 20.0 20.0
H | & X 2 1.80 0.90 0.90 3.0 3.0
3 = ¥ 60.00 30.00 30.00 100.0 100.0
™ X 1.00 1.00 20.0 20.0
s |3 1 & 0.15 0.15 3.0 3.0
3 = ¥ 5.00 5.00 100.0 100.0
™ H - -
dg | & X 2 - -
3 = ¥ - -
| X - -
HEz & X 2 - -
3 = ¥ - -
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Ab. 2

- HESE (1835 HEQ2ES)
Al ral Al ME rall
M ™ (a) 14.3 14.3 340.00 20.00 320.00
A EXE(kg) 0.72 0.72 16.75 1.00 15.75
Sa(kg) 28.5 28.5 1,005.00 60.00 945.00
™ H 1.00 1.00 45.00 45.00
71 & X B 0.05 0.05 2.00 2.00
s =2 ¥ 2.00 2.00 120.00 120.00
™ = 1.00 1.00 20.00 20.00
48 | 5 A 0.05 0.05 1.00 1.00
5 =2 g 2.00 2.00 60.00 60.00
™ &= 0.30 0.30 10.00 10.00
=5 |35 x 0.02 0.02 0.50 0.50
5 2 g 0.50 0.50 30.00 30.00
™ X - -
s | F N F - -
5 =2 - -
™ = 2.00 2.00 15.00 15.00
s |5 KN ¥ 0.10 0.10 0.75 0.75
5 =2 g 4.00 4.00 45.00 45.00
™ H 1.00 1.00 10.00 10.00
= SN B 0.05 0.05 0.50 0.50
5 2 g 2.00 2.00 30.00 30.00
™ = 6.00 6.00 200.00 200.00
35 | & X 0.30 0.30 10.00 10.00
5 =2 g 12.00 12.00 600.00 600.00
™ = 3.00 3.00 40.00 40.00
g3 | 5 A 0.15 0.15 2.00 2.00
5 2 g 6.00 6.00 120.00 120.00
™ X - -
M= & X & - -
5 =2 - -
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Of. S7H

— HEE 283) HE (283)
Al Cl& =4 Al Ci& =H
H A (a) 5.10 4.80 0.30 149.00 138.00 10.00
A E X2 (kg) 0.17 0.16 0.01 4.55 4.25 0.30
a2 (kg) 13.70 12.70 1.00 445.00 415.00 30.00
™ = 1.00 1.00 30.00 30.00
471 | & X 0.03 0.03 1.00 1.00
s = 3.00 3.00 90.00 90.00
™ = 0.50 0.50 20.00 20.00
48 | 5 KN 0.02 0.02 0.60 0.60
T = 1.50 1.50 60.00 60.00
™ &= 1.00 1.00 40.00 40.00
52 | &5 X 0.04 0.04 1.20 1.20
T = 1.20 1.20 120.00 120.00
™ X - -
s | F X ¥ - -
5 8 - -
™ = 2.00 2.00 15.00 15.00
s |5 A 0.06 0.06 0.45 0.45
T = 6.00 6.00 45.00 45.00
™ X - -
HeE | & X & - -
5 8 - -
™ H 0.30 0.30 34.00 34.00
35 | & X 0.01 0.01 1.00 1.00
5 = 1.00 1.00 100.00 100.00
™ = 0.30 0.30 10.00 10.00
34 | & X 0.01 0.01 0.30 0.30
T = 1.00 1.00 30.00 30.00
™ X - -
Hz= | & X 2 - -
5 8 - -
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[ HHUE (2E3B) HE(BEFS)
A | AEY A o2 | MEY
M X (a) 18.0 4.0 14.0]  159.0 10.0 30.0/ 1190
Al B X (kg) 19.2 4.4 148|  172.0 10.0 33.0/ 1290
33 (kg) 181.0 40.0/ 1410, 1,590.0/ 100.0,  300.0| 1,190.0
™ X 5.0 5.0 45.0 45.0
471 &8 © & 5.5 5.5 50.0 50.0
3 = ¥ 50.0 50.0|  450.0 450.0
™ X 1.0 1.0 10.0 10.0
zZ¥ | B A 2 0.8 0.8 10.0 10.0
3 3 10.0 10.0/  100.0|  100.0
™ X 1.0 1.0 10.0 10.0
&85 | & & & 1.1 1.1 11.0 11.0
3 3 11.0 11.0]  100.0 100.0
™ H - -
S| 3 X 2 - -
3 2 ¥ - -
™ X 1.0 1.0 10.0 10.0
ME | B X 2 0.8 0.8 8.0 8.0
3 3 10.0 10.0|  100.0 100.0
™ S| - -
Me | B X2 - -
5 =5 = - -
™ X 6.0 6.0 54.0 54.0
45 | & & 2 6.6 6.6 60.0 60.0
3 = ¥ 60.0 60.0|  540.0 540.0
™ X 4.0 4.0 30.0 30.0
agd | 5 X 2 4.4 4.4 33.0 33.0
3 3 40.0 40.0 300.0 300.0
™ S| - -
Hzx | & X 2 - -
2 2 ¥ - -
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o=
Al 40| Zi=0| Al S| 0|
B H (a) 6.0 1.0 5.0 40.0 10.0 30.0
A | R (kg) 45.0 75 37.5 262.5 37.5 225.0
22 (kg) 780.0 130.0 6500/  5200.0|  1,300.0|  3,900.0
o = - -
dq711F X - -
5 = - -
™ X - -
48 |5 K - -
5 =5 - -
™ A - -
5|3 X - -
= - -
™ X - -
s F X F - -
& =72 - -
o 5 2.0 1.0 1.0 10.0 10.0
e & X 15.0 75 75 37.5 37.5
3 2 ¥ 260.0 130.0 130.0/  1,300.0|  1,300.0
o x : :
T - :
3 2 - -
o4 = - -
A% |3 & - -
2 2 - -
o 5 4.0 4.0 30.0 30.0
e | 3 o 30.0 30.0 225.0 225.0
3 2 ¥ 520.0 5200/ 3,900.0 3,900.0
™ H - -
M= 3 X 2 - -
5 8 - -
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— =
(29 keg)
ae | A7 HEREE) QA 7| 2HEBRIER)
=lE ] 25 | = | A Z4¥ &5 € |5 e |35 | 8H | 7 HF | 223 W34
g 32,883) 34,083 550 920(2,410]5,480 1,200 1,657| 21,866
A 26,87528,075 550| 920| 490|5,480 1,200 19,435
24 | 2 920/ 920 920
. de
EXE | 8,090 8,090 4,480 3610 o
o5 :
Mol | 4900 490 490
B A 1,200 1,200
Ml | 8,609 8,609 8609 ¢
20| | 8, , ,
IS 820?
MEX | 6,201 6,201 6201 o0
A2 x| 1,000 1,000 1,000
nNGE =P]
. 660/ 660 860 ooy
71| oot 550/ 550 550
20|
of=2 | 355 355 3/ e
A 6,008 6,008 1,920 1,657 2,431
de
1,860
(M
ME | 2,100] 2,100 2100 HIZ
e 160,
M
HIZ80)
N EMNLE| 1,590 1,590 1,590
° Hy
Ef 2 169 169 169 (949:2
He e)
EMUE| 67 67 67
22 | ofF | 1,920 1,920 1,920
- 27|
471 g 162 162 12 o
Z1) (H) HME e §E 5 Y FeA 95 1200kg B2
F2) (#) ME ST BEE F 4,480kg 2 HMEXIR0| HM2H|ZE 1704 (I HE
73) (Z) M2 ME SE2 X 160kgE MEX Y0 H2H|FEH 17HA FYUX(HEAS 25T,
80kgs MEX|0| X2H|E5 17HA HAS (MM 2]
F4) (Z) MY Y BEE 6skgE Mt AYUEES Zol AR
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